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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3679 ±Constant = 3.399 

 0.664 ±Mean     = 115.4 

 0.4695 ±Sigma    = 7.512 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3679 ±Constant = 3.399 

 0.664 ±Mean     = 115.4 

 0.4695 ±Sigma    = 7.512 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3498 ±Constant = 3.226 

 0.6994 ±Mean     = 113.9 

 0.4949 ±Sigma    = 7.913 
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 0.3498 ±Constant = 3.226 

 0.6994 ±Mean     = 113.9 

 0.4949 ±Sigma    = 7.913 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3411 ±Constant = 3.125 

 0.7222 ±Mean     = 115.1 

 0.5114 ±Sigma    = 8.171 
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 0.3411 ±Constant = 3.125 

 0.7222 ±Mean     = 115.1 

 0.5114 ±Sigma    = 8.171 

Vt50 (mV)70 80 90 100 110 120 130 140 150 160

n
(C

h
an

n
el

s)

0

1

2

3

4

5

6

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3725 ±Constant = 3.441 

 0.6559 ±Mean     = 115.1 
 0.4637 ±Sigma    =  7.42 
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 0.3725 ±Constant = 3.441 

 0.6559 ±Mean     = 115.1 
 0.4637 ±Sigma    =  7.42 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3672 ±Constant = 3.386 

 0.6664 ±Mean     = 114.7 
 0.4722 ±Sigma    =  7.54 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3672 ±Constant = 3.386 

 0.6664 ±Mean     = 114.7 
 0.4722 ±Sigma    =  7.54 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3329 ±Constant = 3.075 

 0.7338 ±Mean     = 115.3 
 0.5189 ±Sigma    = 8.302 
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 0.3329 ±Constant = 3.075 

 0.7338 ±Mean     = 115.3 
 0.5189 ±Sigma    = 8.302 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.514 ±Constant = 23.22 
 0.09717 ±Mean     = 51.27 
 0.06871 ±Sigma    = 1.099 
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 2.514 ±Constant = 23.22 
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 0.06871 ±Sigma    = 1.099 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.194 ±Constant = 20.27 
 0.1113 ±Mean     = 50.45 
 0.07873 ±Sigma    =  1.26 

Chip 1 Gain at 2.00fC Nent = 128    

 2.194 ±Constant = 20.27 
 0.1113 ±Mean     = 50.45 
 0.07873 ±Sigma    =  1.26 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.699 ±Constant = 24.93 
 0.09051 ±Mean     = 49.66 
 0.064 ±Sigma    = 1.024 
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 2.699 ±Constant = 24.93 
 0.09051 ±Mean     = 49.66 
 0.064 ±Sigma    = 1.024 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.782 ±Constant =  25.7 

 0.0878 ±Mean     = 51.31 

 0.06208 ±Sigma    = 0.9934 
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 2.782 ±Constant =  25.7 

 0.0878 ±Mean     = 51.31 

 0.06208 ±Sigma    = 0.9934 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.673 ±Constant = 24.69 

 0.0914 ±Mean     = 50.57 

 0.06463 ±Sigma    = 1.034 

Chip 4 Gain at 2.00fC Nent = 128    
 2.673 ±Constant = 24.69 

 0.0914 ±Mean     = 50.57 

 0.06463 ±Sigma    = 1.034 
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Chip 5 Gain at 2.00fC Nent = 128    

 2.164 ±Constant = 19.99 
 0.1129 ±Mean     = 50.18 

 0.07983 ±Sigma    = 1.277 

Chip 5 Gain at 2.00fC Nent = 128    
 2.164 ±Constant = 19.99 

 0.1129 ±Mean     = 50.18 

 0.07983 ±Sigma    = 1.277 
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Chip 0 Extrapolated Offset Nent = 128    
 1.253 ±Constant = 11.57 

 0.624 ±Mean     = 12.99 
 0.4412 ±Sigma    =  7.06 

Chip 0 Extrapolated Offset Nent = 128    
 1.253 ±Constant = 11.57 

 0.624 ±Mean     = 12.99 
 0.4412 ±Sigma    =  7.06 
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Chip 1 Extrapolated Offset Nent = 128    
 1.279 ±Constant = 11.82 

 0.6111 ±Mean     = 13.07 
 0.4321 ±Sigma    = 6.914 
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 1.279 ±Constant = 11.82 

 0.6111 ±Mean     = 13.07 
 0.4321 ±Sigma    = 6.914 
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Chip 2 Extrapolated Offset Nent = 128    
 1.116 ±Constant = 10.31 

 0.7007 ±Mean     = 16.34 
 0.4954 ±Sigma    = 7.927 

Chip 2 Extrapolated Offset Nent = 128    
 1.116 ±Constant = 10.31 

 0.7007 ±Mean     = 16.34 
 0.4954 ±Sigma    = 7.927 
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Chip 3 Extrapolated Offset Nent = 128    

 1.181 ±Constant = 10.91 
 0.6621 ±Mean     = 12.15 
 0.4682 ±Sigma    = 7.491 
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 1.181 ±Constant = 10.91 
 0.6621 ±Mean     = 12.15 
 0.4682 ±Sigma    = 7.491 
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Chip 4 Extrapolated Offset Nent = 128    

 1.238 ±Constant = 11.43 
 0.6317 ±Mean     = 13.19 
 0.4467 ±Sigma    = 7.147 

Chip 4 Extrapolated Offset Nent = 128    

 1.238 ±Constant = 11.43 
 0.6317 ±Mean     = 13.19 
 0.4467 ±Sigma    = 7.147 
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Chip 5 Extrapolated Offset Nent = 128    

 1.072 ±Constant = 9.902 
 0.7293 ±Mean     = 15.01 
 0.5157 ±Sigma    = 8.251 

Chip 5 Extrapolated Offset Nent = 128    

 1.072 ±Constant = 9.902 
 0.7293 ±Mean     = 15.01 
 0.5157 ±Sigma    = 8.251 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 4.111 ±Constant = 37.97 

 3.962 ±Mean     =  1725 

 2.802 ±Sigma    = 44.83 

Chip 0 Input Noise at 2.00fC Nent = 128    
 4.111 ±Constant = 37.97 

 3.962 ±Mean     =  1725 

 2.802 ±Sigma    = 44.83 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

10

20

30

40

50

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.946 ±Constant = 45.69 

 3.293 ±Mean     =  1727 

 2.328 ±Sigma    = 37.25 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.946 ±Constant = 45.69 

 3.293 ±Mean     =  1727 

 2.328 ±Sigma    = 37.25 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 4.337 ±Constant = 40.06 

 3.756 ±Mean     =  1738 

 2.656 ±Sigma    = 42.49 
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 4.337 ±Constant = 40.06 

 3.756 ±Mean     =  1738 

 2.656 ±Sigma    = 42.49 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 5.577 ±Constant = 51.52 
  2.92 ±Mean     =  1671 
 2.065 ±Sigma    = 33.04 
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 5.577 ±Constant = 51.52 
  2.92 ±Mean     =  1671 
 2.065 ±Sigma    = 33.04 
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Chip 4 Input Noise at 2.00fC Nent = 128    

  5.12 ±Constant = 47.29 
 3.181 ±Mean     =  1686 
 2.249 ±Sigma    = 35.99 
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  5.12 ±Constant = 47.29 
 3.181 ±Mean     =  1686 
 2.249 ±Sigma    = 35.99 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 3.965 ±Constant = 36.62 
 4.108 ±Mean     =  1723 
 2.905 ±Sigma    = 46.48 
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 3.965 ±Constant = 36.62 
 4.108 ±Mean     =  1723 
 2.905 ±Sigma    = 46.48 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3616 ±Constant =  3.34 
 0.6756 ±Mean     = 114.5 

 0.4777 ±Sigma    = 7.643 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3616 ±Constant =  3.34 
 0.6756 ±Mean     = 114.5 

 0.4777 ±Sigma    = 7.643 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3933 ±Constant = 3.618 

 0.6238 ±Mean     = 113.7 

 0.4414 ±Sigma    = 7.058 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3933 ±Constant = 3.618 

 0.6238 ±Mean     = 113.7 

 0.4414 ±Sigma    = 7.058 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3575 ±Constant = 3.303 

 0.6833 ±Mean     = 116.1 

 0.4832 ±Sigma    = 7.731 
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 0.3575 ±Constant = 3.303 

 0.6833 ±Mean     = 116.1 

 0.4832 ±Sigma    = 7.731 
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 0.3548 ±Constant = 3.278 

 0.6885 ±Mean     = 118.6 
 0.4868 ±Sigma    = 7.789 
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 0.3548 ±Constant = 3.278 

 0.6885 ±Mean     = 118.6 
 0.4868 ±Sigma    = 7.789 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.1714 ±Constant = 1.561 

 1.466 ±Mean     = 103.9 
 1.092 ±Sigma    = 16.39 
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 0.1714 ±Constant = 1.561 

 1.466 ±Mean     = 103.9 
 1.092 ±Sigma    = 16.39 
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 0.3513 ±Constant = 3.245 

 0.6954 ±Mean     = 115.9 
 0.4917 ±Sigma    = 7.867 
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 0.3513 ±Constant = 3.245 

 0.6954 ±Mean     = 115.9 
 0.4917 ±Sigma    = 7.867 
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 2.864 ±Constant = 26.45 
 0.08531 ±Mean     = 49.76 

 0.06032 ±Sigma    = 0.9651 
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 2.864 ±Constant = 26.45 
 0.08531 ±Mean     = 49.76 

 0.06032 ±Sigma    = 0.9651 
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 2.601 ±Constant = 24.03 
 0.09391 ±Mean     = 50.19 
 0.0664 ±Sigma    = 1.062 
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 2.173 ±Constant = 20.08 
 0.1124 ±Mean     = 52.18 
 0.07948 ±Sigma    = 1.272 
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 2.514 ±Constant = 23.23 

 0.09716 ±Mean     =  51.4 

 0.0687 ±Sigma    = 1.099 
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 0.09716 ±Mean     =  51.4 

 0.0687 ±Sigma    = 1.099 
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 0.4535 ±Constant = 4.189 

 0.5387 ±Mean     = 48.46 

 0.3809 ±Sigma    = 6.095 
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  2.24 ±Constant = 20.69 

 0.1091 ±Mean     =  51.7 

 0.07712 ±Sigma    = 1.234 
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  2.24 ±Constant = 20.69 

 0.1091 ±Mean     =  51.7 

 0.07712 ±Sigma    = 1.234 
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 1.138 ±Constant = 10.51 

 0.6869 ±Mean     = 15.15 
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 1.292 ±Constant = 11.94 
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 1.259 ±Constant = 11.63 

 0.6207 ±Mean     = 11.43 
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 1.173 ±Constant = 10.83 
 0.6666 ±Mean     = 15.65 
 0.4713 ±Sigma    = 7.542 
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 0.902 ±Constant = 8.332 
 0.8667 ±Mean     = 6.323 
 0.6129 ±Sigma    = 9.806 
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 1.168 ±Constant = 10.79 
 0.6694 ±Mean     = 12.27 
 0.4733 ±Sigma    = 7.573 
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 1.168 ±Constant = 10.79 
 0.6694 ±Mean     = 12.27 
 0.4733 ±Sigma    = 7.573 
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 6.216 ±Constant = 57.42 

  2.62 ±Mean     =  1721 

 1.853 ±Sigma    = 29.65 
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 6.216 ±Constant = 57.42 

  2.62 ±Mean     =  1721 

 1.853 ±Sigma    = 29.65 
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 5.015 ±Constant = 46.33 

 3.247 ±Mean     =  1715 

 2.296 ±Sigma    = 36.74 
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 5.015 ±Constant = 46.33 
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 2.296 ±Sigma    = 36.74 
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 3.972 ±Constant = 36.69 

   4.1 ±Mean     =  1666 

 2.899 ±Sigma    = 46.39 
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 2.899 ±Sigma    = 46.39 
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 3.653 ±Constant = 33.74 
 4.459 ±Mean     =  1693 
 3.152 ±Sigma    = 50.44 
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 3.152 ±Sigma    = 50.44 

Input Noise (ENC)0 500 1000 1500 2000 2500
n

(C
h

an
n

el
s)

0

5

10

15

20

25

30

Chip 4 Input Noise at 2.00fC Nent = 128    

 2.704 ±Constant = 24.97 
 6.024 ±Mean     =  1628 
  4.26 ±Sigma    = 68.16 
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 2.704 ±Constant = 24.97 
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  4.26 ±Sigma    = 68.16 
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 4.098 ±Constant = 37.85 
 3.975 ±Mean     =  1659 
  2.81 ±Sigma    = 44.97 
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 4.098 ±Constant = 37.85 
 3.975 ±Mean     =  1659 
  2.81 ±Sigma    = 44.97 
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